far = AT R ET T Bl i 2 AN A

i =

(B4 5]« AARND )

A F64E2 A K HBUE
HT HK A0 (58) A0 (&) An GH
H #HT 490 404 392 796
AT 1,765 1, 664 1,789 3,453
JHET 971 894 830 1, 724
== 1T 1,254 983 1,048 2,031
FFHT 1,966 1,821 1,905 3,726
JTHT 1,653 1,693 1, 840 3,533
i 844 928 975 1,903
A AET 619 522 568 1,090
At ZEHT 887 849 881 1,730
BT 689 620 626 1,246
HAET1 T H 874 838 847 1,685
HARET2 TH 803 778 759 1,537
PEFTIR 1 T H 2,190 1,836 1,960 3, 796
VEETIR 2 T H 968 871 912 1,783
FRET 1T H 1,584 1, 305 1,643 2,948
T2 TH 1, 264 962 1,131 2,093
kAT 3 T H 1,435 1,429 1,522 2,951
HIT4TH 2,897 2, 666 2, 896 5, 562
SRHET 943 900 952 1, 852
FRAEHT 1,185 1,138 1,225 2, 363
EFIT1 TH 504 440 485 925
EJFET2 T H 770 830 787 1,617
KT 3 T H 732 712 703 1,415
EJFET4 T H 214 213 208 421
EJFET5 TH 485 459 505 964
AL P IR BT 1,106 1,123 1,070 2,193
[ B AT 1,595 1,647 1,783 3, 430
FiEs 1,206 1,245 1,293 2,538
E1TH 424 461 496 957
EE 2 TH 642 744 752 1,496
tE3TH 472 531 519 1, 050
EE4 T H 404 512 497 1, 009
FAZENT 1,397 1,049 1,078 2,127
=L 720 687 728 1,415
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A F64E2 A K HBUE
HT 4 H Ao () A0 (&) UNEINGY!
Z A LHT 1,022 818 1,012 1, 830
ERNET 955 1,049 1,062 2,111
KETHH 168 95 153 248
[icg gzl 876 915 880 1,795
HOHTHHT 1,002 1,076 1,065 2, 141
KFEHE 1,747 2, 034 2,002 4,036
KFFRIL 1,523 1,525 1,585 3,110
Al - /N 6, 157 6, 325 6, 342 12, 667
KT TNLEm 4,951 5, 404 5,397 10, 801
KR EE 4,802 4, 568 4,632 9, 200
WAL 948 789 835 1, 624
[EREa 495 406 408 814
S 1,540 1,391 1,487 2,878
EoE1TH 547 543 508 1,051
BEo=2TH 710 643 649 1,292
KFEA K 4,788 5, 000 5,063 10, 063
KFEFIE 3, 409 3,610 3, 660 7,270
KFA 11,071 11,492 12,035 23,527
K7 Eilin 2,005 2,039 2,021 4, 060
/INFFRET1 TH 2, 640 2,317 2,701 5,018
/INFFRET2 TH 1,278 1,227 1, 190 2,417
/INFFRET3 TH 2, 434 2,194 2, 462 4, 656
/INFFRET4 TH 1,573 1, 484 1,485 2, 969
KEd s 1,065 1,154 1,139 2,293
KFEFE 2,375 2, 544 2, 652 5,196
KFAH A A 727 615 17 1,332
== = 863 990 987 1,977
KFEdsit 78 111 90 201
1 T H 914 982 1,030 2,012
2 TH 987 1,093 1,116 2, 209
B3 T H 876 775 897 1,672
B4 TH 674 691 792 1,483
w5 TH 790 790 864 1,654
KREWRZ T 319 308 321 629
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BI64E2 H K H BAE
my 4 A AR (B AR (&) AR GH
KT 203 248 230 478
KPR 802 940 968 1,908
RF-H HH 140 176 175 351
KFBTH 154 189 161 350
KFHIH 16 20 19 39
KFFE A 458 542 491 1,033
Pl 1 TH 1,045 1,009 1,128 2, 137
il E2TH 1,135 1,136 1,193 2, 329
=M1 TH 938 994 1,059 2,053
M2 TH 351 320 384 704
3 TH 827 844 882 1,726
A TH 1, 181 1,119 1,153 2,272
HRLAr 1 TR 1, 650 1, 475 1, 604 3,079
WL F2 TH 1,426 1,543 1,555 3,098
Bkl 3 TH 784 825 932 1,757
WL F4 T H 355 224 295 519
WL E5 T H 158 151 171 322
WL 6 TH 595 488 574 1,062
Pl 1 TH 1,091 1,112 1,087 2,199
w2 TH 329 338 370 708
farE1TH 1,516 1, 441 1,405 2,846
My 2TH 691 725 741 1,466
M3 TH 849 815 831 1,646
#1TH 276 345 300 645
H2TH 269 321 326 647
#3TH 1,395 1,398 1, 459 2,857
= &1TH 360 433 399 832
= E2TH 188 221 221 442
= &3TH 288 354 335 689
=E4TH 427 486 454 940
—&5TH 670 704 693 1,397
HEA 349 410 386 796
| 226 279 280 559
WA2TH 939 904 910 1,814
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SN2 H K HBAE
i) % A (59) AB (%) UNEGD)
WA3TH , 020 1, 340 1,479 2,819
WAR4TH 110 81 125 206
WA7TH 335 348 368 716
WA TH , 554 1,158 1, 390 2,548
FRER1ITH , 730 1,832 1,888 3,720
FRER2TH 949 1,009 982 1,991
1 TH 233 256 267 523
2 TH 489 596 629 1,225
It 3TH , 039 1,131 1,172 2,303
4 TH 59 79 70 149
e [ B 357 429 400 829
bR T 618 560 633 1,193
AT IR 599 17 728 1,445
WETIR1 T H , 482 1,466 1,312 2,778
WATIR 2 T H , 392 2, 644 2, 451 5,095
WRETIR 3 T H , 547 1,635 1,453 3,088
WATIR 4 T H 451 528 476 1,004
WAETIR5 T H 809 769 733 1,502
RPTRFIE 1 T B ,322 1,444 1,276 2,720
WHATRAIE 2 T H 341 1,380 1,317 2, 697
WHTRAIE 3 T H 857 944 872 1,816
<TDEHE1ITH 433 294 370 664
<TDEH2TH 717 664 597 1,261
<TDEHE3ITH 869 716 804 1,520
TER1ITH 145 150 139 289
TER2TH 410 522 503 1,025
HEm 3 T H 547 608 594 1,202
TER4TH 592 640 639 1,279
MMRE1TH 678 751 775 1,526
MMRE2TH 709 758 835 1,593
INFFRFE1TH 553 606 667 1,273
INFEFRFE 2 TH 543 564 610 1,174
INFfER 3T H 899 1,015 980 1,995
INFfER4 T H 801 976 964 1,940
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BI64E2 H K H BAE
i) W A (59) AR (&) AR GH
INFHER 5 T H 560 757 682 1,439
/INFFERG 6 T H 609 599 628 1,227
/INFFEET 5 T H 583 599 595 1,194
WNFRRTET 1 T H 773 770 750 1,520
/WNFfRTET 2 T H 555 606 588 1,194
/NFFRTHT 3 T H 839 1,044 1,056 2, 100
JEEFHHET 1 T H 90 106 116 222
LB 2 T H 26 36 21 57
¥ 1 TH 284 316 320 636
¥ 2 TH 156 184 185 369
¥ 3 TH 189 141 197 338
B 1 TH 98 122 121 243
kB2 TH 141 177 174 351
B3 TH 142 168 178 346
EFH1TH 831 820 819 1,639
E#FH2TH 1,262 1,379 1, 340 2,719
EHFIE3ITH 1,396 1, 555 1,556 3,111
EHFI4TH 1,345 1,443 1, 569 3,012
EHFIESTH 1,718 1,922 1,954 3, 876
INEEE 883 968 964 1,932



















